AK7836ASX
AK7842ASX
AK7848ASX

Go—isi man
(o 8 5@5




ZEPHR

Cypress

AK78xxASX

Ref # Part # Description per Hood
1 54050067 Adaptor, 10" Round 1
2 11030046 Wires, Electrical 1
4 11040014 Switch, Motor 1
5 11040017 Switch, Light 1
6 50110073 Panel, Light (36") 1
6 50500074 Panel, Light (42") 1
6 50110075 Panel, Light (48") 1
6-1 Z0B-0023 Halogen Bulb, GU-10 35w 2
7 50210009 Baffle Filter (48" x 4) 3
8 50120035 Panel, Side (42" only) 2
9 05000052 Hardware Packet 1
9-1 01650001 Screw, 3/16" x 3/8" 6
9-2 01070003 Screw, M4 x 16mm 4
9-3 01090001 Screw, M6 x 1" 4
9-4 01090002 Screw, M6 x 1-1/2" 4
9-5 01090003 Screw, M6 x 2" 4
9-6 00100013 Wire Nuts 3
9-7 01060004 Screw, M3 x 8mm 7
9-8 01070010 Screw, M4 x 8mm 8
9-9 15000004 Suction Cup 1

DEC08.0101




	AK78xxASX.pdf
	xAK78xxASX.pdf

